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Let k n 14

Since 101 Hall n we just theose a unique
color for every vav



FALSE

G opt knit
I



TRUE

Let e Lumbee not in a spanning
tree T of

G Since T is a tree a and r

are connected by a unique simple

path P in T Sata 1.6 e

After removing e P is still in

4 and a o remain
connected



TRUE

Proof by contradiction

Assume G Not can only be colored in

k 3 colors By definition of a

coloring Cco clw weN w thus

424 3 1 f G is 3 colorable



FALSE

consider any bipartite graph Unintzk where

n 21 like Nan

e 3 L h 1

A 0 0

desalo IB 71 24 ueA

degp.lu IAI 21 VEB

it all degrees even Euler tour

Git Nl 1A IBI 41 24 even

but no perfect matihing



FALSE

Sca 1H12 a contains Hamiltonian cycle

1
counterexample any Cn nEN



FALSE

FIII n matching

o p p has length 1 2 1Mt 2



let Copt be a optimal TSP route in 4 with

cost 10

Copt e for any e in E Copt is a

spanning tree of a since Copt e

is a path connented no cycle tree

that contains all vertines of G spanning

cost of edge is at least 1

9 is best upper
bound since cost

of e could be higher than a



TRUE



FALSE

un o i e last



TRUE

Let u be upot of a a tree

There is a unique simple u u path for

all we V sett 1.6 e

Let Pu be the path from u to and

let flo be the length of P Ifcal o

For every edge e 2x.ph we have

f x fly they differ in parity Why

Set cal to be x mod 2 then

c is a coloring from V to 20,13


